JL_

Vertical Division with a Helper Grid Name:
Solve each problem. Answers
1) 2) 3)
7[506 5[595 4[42'6 -
2.
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9[3/0'6 7[6'16 g[4'8/0 6
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7) 8) 9)
2|843 7|180 2|417
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 7/2r2 2 119 3 10612
1 72r2
7|5 06 51595 414 2 6
49 55 40 , 119
16 45 2|6
14 4/5 2|4 3. 106r2
2 0 2
a 34
5, 88
6. 60
7, 421r1
4) 34 5) 88 6) 6/0
91306 71616 8l480 8. 25r5
217 5/6 48
36 5|6 0 9. 208r1
3|6 56
0 0
N 4201 8) 2/5r5 9 2/o8r1
2[8'43 7[178/0 2[417
8 14 4
04 40 0
4 3|5 16
03 5 1
L2
1
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